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Instructions: You have 75 minutes to complete the test. There are 20 multiple-choice questions. Just circle the right answer. There are also 3 essay problems. Please, answer them as succinctly and clearly as possible. Remember, none of the problems has to take more than 4-5 lines to answer. However, you have to show all your work.

Multiple-Choice Questions (Each question is worth 3 points).

1.
On exchange-traded currency futures contracts, ____.


a.
commissions are charged as a bid-ask spread


b.
expiration dates are negotiated


c.
initial and maintenance margins are required


d.
the contracts are traded only during normal banking hours


e.
the contracts are typically settled by physical delivery


ANS: C

2.
In order to boost the value of the euro relative to the dollar, the U.S. Federal Reserve should ____.


a.
sell euros for dollars and buy euros with dollars


b.
sell euros for dollars and sell dollars for euros


c.
sell dollars for euros and buy dollars with euros


d.
sell dollars for euros and buy euros with dollars


e.
more than one of the above


ANS: D

3.
The euro depreciates 17% against the dollar. How much has the dollar appreciated against the euro?


a.
16.31%


b.
17.00%


c.
17.54%


d.
20.48%


e.
34.00%


ANS: D

4.
Characteristics of the Eurocurrency market include which of the following?


a.
no interest rate regulations on Euromarket transactions


b.
no regulations influencing credit allocation decisions


c.
no reserve requirements on Euromarket transactions


d.
no withholding taxes on Euromarket transactions


e.
all of the above 


ANS: E

5.
The spot rate is $1.00/€ and the one-year forward rate is $1.10/€. What is the percentage forward premium on the dollar?


a.
less than 0%


b.
0%


c.
10 percent


d.
more than 10%


e.
none of the above


ANS: A

6.
The spot rate is $1.00/€ and the one-year forward rate is $1.10/€. What is the forward premium on the euro?


a.
0.10 basis point


b.
1 basis point


c.
10 basis points


d.
100 basis points


e.
1,000 basis points


ANS: E

7.
The relation between the forward/spot ratio and interest rate differentials is called ____.


a.
forward parity


b.
interest rate parity


c.
relative purchasing power parity


d.
the international Fisher relation


e.
none of the above


ANS: B

8.
S$/ArPeso = $0.35/ArPeso and SArPeso/Rand = ArPeso0.31/Rand. What is SRand/$?


a.
Rand0.886/$


b.
Rand1.129/$


c.
Rand3.226/$


d.
Rand3.459/$


e.
Rand9.217/$


ANS: E

9.
Suppose annual inflation rates in the U.S. and Mexico are expected to be 6% and 80%, respectively, over the next several years.  If the current spot rate for the Mexican peso is $0.005/Ps, then relative purchasing power parity suggests that our forecast of the peso’s value in 3 years will be approximately ____.


a.
$0.01088/Ps


b.
$0.00346/Ps


c.
$0.00321/Ps


d.
$0.00102/Ps


e.
$0.00024/Ps


ANS: D

10.
Suppose that S0$/SFr = $1.27/SFr and F1$/SFr = $1.28/Sfr for exchange between U.S. dollars and Swiss francs. These prices indicate that ____.


a.
nominal interest rates are higher in the U.S. than in Switzerland


b.
the inflation rate in Switzerland is declining


c.
the Swiss franc has recently risen in relation to the dollar


d.
the Swiss franc is expected to fall in value relative to the dollar


e.
it is not possible to claim that any of the above are true without additional information


ANS: A

11.
The risk of unexpected change in the relationship between currency futures prices and currency spot prices is called ____.


a.
basis risk


b.
currency risk


c.
exchange rate risk


d.
interest rate risk


e.
none of the above


ANS: A

12.
With respect to currency forward contracts which of the following is false?


a.
commissions are charged as a bid-ask spread


b.
expiration dates can be negotiated


c.
there is no default risk.


d.
trading occurs in OTC markets.


e.
a, b and d are true.


ANS: C
13.
Consider a “C$ Dec 6000 call” selling on the Chicago Mercantile Exchange (CME) at a price of $0.0180/C$. Each CME C$ contract is worth C$125,000. What would be the profit on an investment in this option if the spot rate at expiration is $0.5930/C$?


a.
-$2,250


b.
$0


c.
$1,750


d.
$2,250


e.
$4,000


ANS: A

14.
Parallel loans suffer drawbacks a) through d) except ____.


a.
high default risk 


b
high search costs 


c.
must be capitalized on the balance sheet


d.
subject to tax on cross-border currency transactions


e.
all of the above are drawbacks


ANS: D

15.
Company A can borrow at 8% in USD markets and at 9% in AUD markets. Company B can borrow at 9% in USD markets and at 9.5% in AUD markets. Company A wants to borrow in AUD and company B wants to borrow in USD markets. If these companies enter a swap in which a dealer gets 10 basis points, what is the net cost of borrowing to Company B? 


a. 9% in USD.


b. 8.8% in AUD.


c. 8.75% in USD.


d. 8.8% in USD.


e. None of the above.


ANS: D

16. CME sets the margins for speculators in Brazilian Real outright futures as follows: $3,500 initial margin and $2,500 maintenance margin per contract. One Brazilian Real contract is for 100,000 Brazilian Reals. If a speculator has a short position in 10 contracts, what futures price change will lead to a margin call?

a. a fall of 0.0100 $/Real in the price.


b. an increase of 0.0100 $/Real in the price.


c. a fall of 0.1000 $/Real in the price.


d. a increase of 0.1000 $/Real in the price.


e. None of the above.


ANS: B

17.
A combination of a long call on euro and a short put on euro is equivalent to ____. Assume that the two options have the same time to maturity and the same strike price.

a.
a long call on a dollar and a short euro put


b.
a long forward contract on euros 


c.
a long forward contract on dollars


d.
riskless bond with face value equal to the strike price


e.
none of the above.

ANS: B

18. Canadian dollar to Euro exchange rate is $1.45/€ now. It is known that over the next period the spot rate can either rise by 2% or drop by 2%. How many Euros does a bank have to trade now in order to hedge a short position in 1000 at-the-money call options on Euro maturing at the end of the period? Assume that an interest rate on Euro deposits, rf, is 5% per period with continuous compounding. 

a.
The bank has to buy 475.6  Euros.


b.
The bank has to sell  476.2 Euros.


c.
The bank has to buy  476.2 Euros.


d.
The bank has to sell 475.6 Euros.


e.
None of the above.


ANS: A
19.
Which of the following is true?


a.
As volatility increases, call values increase and put values decrease.


b.
As volatility increases, call values decrease and put values increase.


c.
As volatility increases, the values of both call and put options decrease.


d.
As volatility increases, the values of both call and put options increase.


e.
Call and put values are independent of volatility.


ANS: D

20.
Which of a) through d) is not true of a swap if the principal amounts are in the same currency?


a.
The notional principal is exchanged.


b.
The swap is an interest rate swap.


c.
The principal amount is used only to calculate the interest payments.


d.
Only the difference check between the two interest payments is exchanged.


e.
All of the above are True.


ANS: A

Problems.
Problem One.  (10 points) Current spot exchange rate is 1.6237 CAD/Euro. Assume that risk-free rates are 4% and 7% in Canada and Europe, respectively. The Euro is selling for 1.6300 CAD/Euro forward in a three-month contract. 
a. (5 points) Is there arbitrage? 
b. (5 points) If yes, briefly describe the strategy to exploit it.

Answer: 
a. F0 = 1.6237e(.04 - .07).25 = 1.6116 CAD/Euro < 1.6300 => Arbitrage. 
b. Today sell the forward, buy the Euros with borrowed CADs at 4% and invest the Euros at 7% in Europe.

Problem Two. (10 points)
Price indices in the United States and the United Kingdom are currently P0$ = $2000 and P0£ = £10, respectively. The spot rate of exchange is S0£/$ = £0.80/$. Inflation rates are expected to be p$ = 2 percent and p£ = 3 percent per period, respectively, over the foreseeable future. 


a.
(5 points)Looking one year into the future, what are the expected levels of the price indices E[P1$] and E[P1£] and the expected nominal spot rate of exchange E[S1£/$]? 


b.
(5 points)Looking two years into the future, what are the expected price levels [P2$] and E[P2£] and the expected nominal spot rate of exchange E[S2£/$]?

Answer:


a.
E[P1$] = P0$(1+p$) = $2000(1.02) = $2040 



E[P1£] = P0£ (1+p£) = £100(1.03) = £10.3



E[S1£/$] = S0£/$ (1+p£) / (1+p$) = (£0.80/$) (1.03 / 1.02) = £0.80784/$

b.
E[P2$] = P0$(1+p$)2 = $2000(1.02)2 = $2080.8



E[P2£] = P0£ (1+p£)2 = £10(1.03)2 = £10.609



E[S2£/$] = S1£/$ [(1+p£) / (1+p$)]2 = (£0.80/$) [(1.03 / 1.02)]2 = £0.81576/$
Problem Three. (10 points) Suppose that the term structure of interest rates is flat in the US and UK. The USD interest rate is 3% per year and the £ interest rate is 5% per year. The current value of £ is 1.7 USD. Under the terms of a swap agreement, a financial institution pays 5% per year in USD and receives 4% per year in £. The principals in the two currencies are $17 million and £10 million. Payments are exchanged every year, with one exchange having just taken place. The swap will last 2 more years. Assume all interest rates are compounded annually.
Part a. (10 points) Compute the forward rates for one- and two-year horizons.

Part b. (10 points) What is the value of the swap to the financial institution?

Answer:

a. Forward rate for 1-year horizon is F1 = 
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Forward rate for 2-year horizon is F2 = 
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b. The swap for the institution is equivalent to two exchanges: paying $0.85mil and receiving £0.4 mil in one year and paying $17.85mil and receiving £10.4 mil in two years. The swap value to the financial institution is the sum of the values of the one- and two-year forward exchanges.
Vswap = 
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